## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2021-22 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 19, 2021, \$32.26 PER HOUR (21-22): (10-1250-0000-1341-497-1)

Elizabeth Urbanek

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL ELA BACKWARDS PLANNING ACTIVITIES DECEMBER 14, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Archey, Heather K	2.00 hours	\$64.52
Blunk, John	2.00 hours	64.52
Buckles, Candice	1.00 hours	32.26
Gibbs, Katie	2.00 hours	64.52
Graves, Aaron	2.00 hours	64.52
Mcmillan, Rachael	2.00 hours	64.52
Minton, Jacquelyn	2.00 hours	64.52
Romer, Gina	2.00 hours	64.52
Scott, Kelly	1.00 hours	32.26
Turner, Wendy	2.00 hours	64.52

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES DECEMBER 10 THROUGH DECEMBER 16, 2021, \$32.26 PER HOUR, 24 HOURS FOR A TOTAL OF \$774.24: (10-3700-0000-1243-531-2)

Lamsargis, Kathy

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID ELEMENTARY LEADS PROFESSIONAL DEVELOPMENT NOVEMBER 30, 2021, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Blakley, Kaylee House, Elizabeth
Buxton, Amanda Midiri, Stefanie
Crumrine, Carrie Netznik, Melissa
Garcia, Michelle Walker, Amy

Greig, Anne

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS DECEMBER 15, 2021, \$32.26 PER HOUR, .75 HOURS FOR A TOTAL OF \$24.20 EACH: (10-2210-6431-1341-481-2)

Becker, Brooke Loken, Susan
Justison, Mildred Servough, Carrie
Kieffer, Shelley Tolsdorf, Kathleen

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CULTIVATING GENIUS BOOK STUDY DEBRIEFINGS NOVEMBER 17 THROUGH DECEMBER 15, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Buyze, Margaret	3.00 hours	\$96.78
Capps, Gail	2.00 hours	64.52
Gilmore, Lynn	2.00 hours	64.52
Hoffman, Julie	2.00 hours	64.52
Jordan, Laura	3.00 hours	96.78
Metzke, Deana	3.00 hours	96.78
Stewart, Shelley	3.00 hours	96.78
Weitekamp, Crysta	2.00 hours	64.52

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT DECEMBER 7, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Cassens, Glenda	1.50 hours	\$48.39
Helton, Colin	1.50 hours	48.39
Law, Jordan	1.50 hours	48.39
Mitts, Jodi	1.50 hours	48.39
Newton, Jennifer	1.50 hours	48.39
Rawls, Nicola	1.00 hours	32.26
West, Patricia	1.50 hours	48.39

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING DECEMBER 14, 2021, \$32.26 PER HOUR, 3 HOURS FOR A TOTAL OF \$96.78 EACH: (10-2210-0000-1341-564-2)

Cano, Michelle Godefroid, Amie Hockenyos, Karen

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TECHNOLOGY NEARPOD PROFESSIONAL DEVELOPMENT DECEMBER 20, 2021, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Bryant, Sydney Jones, Erika Dykstra, Blanca Larson, Stacey

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FACE 2 FACE DECEMBER 2, 2021, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-3900-6120-1341-000-0)

Capps, Gail Neely, Gail

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID WORKSHOP NOVEMBER 16, 2021, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Bennett, Janene Isaacks, Susan Benoit, Claire Kahl, Lindsay Boston, Catherine Koebler, Bailey Buxton, Amanda Mclaughlin, Stacey Cano, Michelle Rogers, Chenoa Crumrine, Carrie Seiz, Anne Fernandez, Mary Termine, Leslie Harris, Timothy Walker, Amy Hockenyos, Karen West, Erica

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH FALL BOOK STUDY SEPTEMBER 30 THROUGH NOVEMBER 4, 2021, \$125.00 PER STIPEND, 1 STIPEND FOR A TOTAL OF \$125.00 EACH: (10-2210-0000-1341-564-2)

Corder, Sara Fry, Melissa Danner, Sarah Havenar, Meri

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MCCLERNAND BACKWARDS PLANNING DECEMBER 8 THROUGH DECEMBER 9, 2021, \$32.26 PER HOUR, 3 HOURS FOR A TOTAL OF \$96.78 EACH: (10-2210-0000-1341-564-2)

Dill-Prusak, Megan

Jones, Terwanna

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING DECEMBER 20 THROUGH DECEMBER 21, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Beck, Melissa	2.00 hours	\$64.52
Browning, Elizabeth	1.50 hours	48.39
Dresch, Kim	2.00 hours	64.52
Hays, Megan	3.00 hours	96.78
Hockenyos, Karen	3.00 hours	96.78
Pyle, Amy	2.00 hours	64.52
St. Aubin, Katrina	1.50 hours	48.39

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK BACKWARDS PLANNING DECEMBER 7 THROUGH DECEMBER 13, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Blakley, Kaylee	2.00 hours	\$64.52
Campbell, Melissa	1.00 hours	32.26
Dold, Jena	2.00 hours	64.52
Durbin, Lori	1.00 hours	32.26
Hardy, Angela	1.00 hours	32.26
Langen, Natasha	1.00 hours	32.26
Parkinson, Vanessa	1.00 hours	32.26
Roark, Heather	1.00 hours	32.26

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID DISTRICT QUARTERLY MEETING DECEMBER 2, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Benoit, Claire	2.00 hours	\$64.52
Cano, Michelle	2.00 hours	64.52
Crumrine, Carrie	2.00 hours	64.52
Cuzzort, Samantha	2.00 hours	64.52
Daniels, Sherry	2.00 hours	64.52
Ethridge-Galloway, Tiffany	2.00 hours	64.52
Garcia, Michelle	2.00 hours	64.52
Gehrig, Kathy	2.00 hours	64.52
Greig, Anne	2.00 hours	64.52
Hale, Marcy	2.00 hours	64.52
Harris, Timothy	2.00 hours	64.52
Hebb, Jon	2.00 hours	64.52

AVID District Quarterly Meeting December 2, 2021, \$32.26 Per Hour, cont.

Hodapp, Brad	2.00 hours	64.52
House, Elizabeth	2.00 hours	64.52
Israel, April	2.00 hours	64.52
Jimerson, Angela	2.00 hours	64.52
Kahl, Lindsay	2.00 hours	64.52
Kyes, Jessieca	2.00 hours	64.52
Logsdon, Alicia	2.00 hours	64.52
Mcdowell, Toni	2.00 hours	64.52
Midiri, Stefanie	2.00 hours	64.52
Moskus, Aliyah	2.00 hours	64.52
Netznik, Melissa	2.00 hours	64.52
Phillips, Elisabeth	2.00 hours	64.52
Pochynok, Jason	1.00 hours	32.26
Pyle, Yvonne	2.00 hours	64.52
Schudel, Mark	2.00 hours	64.52
Schweska, Lisa	2.00 hours	64.52
Tennant, Mary	1.00 hours	32.26
Thompson, Erica	2.00 hours	64.52
Walker, Amy	2.00 hours	64.52
Wallner, Jennifer	2.00 hours	64.52
Wells, Bette	2.00 hours	64.52

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDITIONAL INSTRUMENTAL MUSIC ACTIVITIES OCTOBER 1 THROUGH NOVEMBER 5, 2021, \$32.26 PER HOUR, 16 HOURS FOR A TOTAL OF \$516.16: (10-1500-5200-1341-000-0)

Boucher, Lucinda

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDITIONAL INSTRUMENTAL MUSIC ACTIVITIES NOVEMBER 11 THROUGH DECEMBER 5, 2021, \$32.26 PER HOUR, 8 HOURS FOR A TOTAL OF \$258.08: (10-1500-5200-1341-000-0)

Boucher, Lucinda

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR 1900 WEST MONROE ADDITIONAL INSTRUMENTAL MUSIC ACTIVITIES OCTOBER 11 THROUGH DECEMBER 14, 2021, \$32.26 PER HOUR, 25 HOURS FOR A TOTAL OF \$806.50: (10-1500-5200-1341-000-0)

Boucher, Lucinda